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The Purpose of this Document

The Primary Exit Profile (PEP) is a series of evidence-centred assessments that provide a
summary of the competencies students have acquired during their years of primary education.
This evidence is collected over a three-year period (Grades 4, 5 and 6) from students’ responses
to different types of assessment items. Each item type permits the measurement of different
knowledge and skills, hence allowing for a more comprehensive report to be generated for each
child.

This document seeks to expose stakeholders to the various item types, the knowledge and skills
they measure, how students are expected to respond and how students’ responses are likely to be
assessed. It is expected that teachers, in particular, will use this document as a guide in their

preparation of students.



How to use this document

This document contains samples of assessment items and performance tasks in mathematics,

social studies, language arts and science. These items are accompanied by the solutions/keys, the

DOK levels of the items, the objective the items seek to measure, and sample responses. The

student version of this document contains only the items and instructions for student responses. It

is expected that as the teacher you will use the teacher version as a guide in helping students with

their responses. It is recommended that you do the following after administration:

e Use the document to introduce students to layout/design of the actual assessment

document and item types, not as a test.

e Go through the students’ responses and guide them through the process of determining

the correct responses.

e Note instances where students got the responses to the items incorrect and use this to

identify gaps in students learning of the content, process or procedure.

e Emphasise the engagement of the students’ critical thinking skills by asking probing

questions which will inform the students’ response to the items. Questions such as:

What do you think is the answer?
Why do you think that?

How did you get to your response?
Can you explain some more?

What other questions do you have?

e (Gauge your students’ achievement of the objectives related to the items and use this to

help plan your intervention strategies.



Webb’s Depth of Knowledge

The assessments to be administered under PEP are designed using Webb’s Depth of Knowledge
(DOK). Webb’s DOK is a cognitive demand scale that ranks assessment tasks based on the level
of thinking required to complete the task. There are 4 levels:
e Level 1 - Recall and Reproduction
e Level 2 Skills and Concepts
e Level 3 - Extended Thinking
e Level 4 — Strategic Thinking

What is the
knowledge?

DOK 1

How can the

knowledge be used?

DOK 2

Why can the

knowledge be used?

DOK 3

What else can be

done with the
knowledge?

DOK 4

Extended
Thinking

Recall &

Basic
Application
of Skills and

Concepts

Reproduction

Who?
What?
Where?
When?
How?

Why?

How does/ did it
happen?

How does/did it
work?

How is/ was it
used?

What is the
answer/outcome/re
sult?

Strategic
Thinking

Why did it
happen?

How/why can
you use it?

What is the
cause/effect?

What
distinguishes/indi
cates?

What is the
reason?

What is the
relationship?

What is the
impact?

What is the
influence?

What could/
would happen?

What do you
believe/ feel/
think?

What can you
create/ design/
develop?




The 215 Century Skills

The National Standards Curriculum seeks to equip all students to be successful participants in the
21% century society. As such, it emphasizes the development of four key skills, in all subject
areas, at all grade levels. These skills (referred to as the 4Cs) are:

e Critical thinking
e Communication
e Creativity

e Collaboration

The assessments under PEP will seek to measure students’ acquisition of these sKkills.

Critical
Thinking

E

¥




How to Respond to Items

Single Selected Response

This item type presents a stem and/or stimulus followed by four to six options from which
students are to select ONE by shading in the bubble that corresponds with their choice. If more
than one option is selected, the response will be marked incorrect. Students should ensure that
they completely fill in the bubble and do not make any stray marks on the page.

Question 1

Read the sentences carefully, then select the sentence in which capital letters are correctly

used.
@ Mr. A. S. Mullings is the new principal of New Leaf primary school
® Mr. A. S. Mullings is the New Principal of New Leaf Primary School.
© Mr. A. S. Mullings is the new Principal of New Leaf Primay school.
(@) Mr A_S. Mullings is the new principal of New Leaf Primary School.
Solution
Question 1

Read the sentences carefully, then select the sentence in which capital letters are correctly
used.

Mr. A. S. Mullings is the new principal of New Leaf primary school
Mr. A. S. Mullings is the New Principal of New Leaf Primary School.

Mr. A. S. Mullings is the new Principal of New Leaf Primay school.

@ © © o

Mr. A S. Mullings is the new principal of New Leaf Primary School.



Multiple Selected Response

This item type presents a stem/and or stimulus followed by four to eight options from which
students are to either select the number of responses indicated in the stem or all the options that
they perceive to be correct responses to the stem. If the incorrect combination of options is
selected, the response will be marked incorrect. No partial credit is awarded.

; CDEMA

Which two (2) of the following options describe how the agency represented above fosters
integration in the Caribbean?

2
@ It offers loans to small businesses in the Caribbean that sell disaster relief supplies.
It offers emergency response and relief to Caribbean countries affected bv a disaster.

@ It offers media services to Caribbean countries during a disaster.

@ It provides information about disasters in the Caribbean.

Solution

; CDEMA

Which two (2) of the following options describe how the agency represented above fosters
integration in the Caribbean?

It offers loans to small businesses in the Caribbean that sell disaster relief supplies.
It offers emergency response and relief to Caribbean countries affected bv a disaster.

It offers media services to Caribbean countries during a disaster.

® © 0 O

It provides information about disasters in the Caribbean.



Table-Grid Items

The item’s response grid may appear slightly different from item to item but the general response
area looks like the image below.

Question 1

If the symbol 4 is an odd whole number, which of the expressions will always be odd,
sometimes be odd or never be odd? Shade the letter that matches your answer.

Expression Always Odd Sometimes Odd Never Odd

a #+5 ™ (®) ©
b 5 ® ®
c. 42 O ©
d ¢x2 (® (©

Students are expected to read the column headings and each row before making a selection to
ensure that they understand the relationships being represented. They will then reread each row
and tick/shade the cell under the column heading that corresponds with their answer.

Question 1

If the symbol ¢ is an odd whole number, which of the expressions will always be odd,
sometimes be odd or never be odd? Shade the letter that matches your answer.

Expression Always Odd Sometimes Odd Never Odd
a #+5 (® (&) ¢
b ons @ ° ®
c. ¢+2 . @
d. ¢x2 (® o

Typically, only one tick/bubble per row is permitted. Any response with more than one
tick/bubble in a row will be marked as incorrect unless otherwise stated.

9



Order Match

Order match items present a stem and/or stimulus along with a list of options from which the
student is required to select the appropriate options then use them to complete a statement or
table. The student is required to shade the selected options in the correct order so that the
completed stimulus is correct. There may be multiple correct answers, but the student is only
required to give one.

Question S

Below is a diagram showing the human digestive system. Use the information to complete
the activity which follows.

Shade the number that identifies the organ in the diagram above.

Organs Label numbers

small
intestine

oesophagus
anus

large
intestine

CRCECRO
ONONONO)
©OOEE
®O0O
ONONONO,
ONONONO

Solution

Organs Label numbers

small
intestine

oesophagus
anus

large
intestine

L NCNONC)
ONON RO,
ONONON |
®OOO
ON NOXO
ONONOXO,

10



Constructed Response Items

Constructed response items do not have options for students to select from. The student is
required to read the stem and stimulus then write their answer in the space provided. In extended
constructed response items, students may be asked to explain or justify their answer. In these
instances, the student is expected to describe in detail how they arrived at their answer often
making references to the information provided. Complete sentences (in standard Jamaican
English and/or using appropriate Mathematical symbols) should be used to express their
thoughts. As a part of helping students develop good communication skills, teachers should help
students to learn how to organize their thoughts in writing through multiple classroom activities.
Care should also be taken in helping students learn how to present the information on the page.
See the table below for the expectations based on the terms used in the stem:

Identify the similarities between the two ideas,
Compare pointing out any that are particularly
significant

Identify the difference between two ideas,

Contrast pointing out any that are particularly
significant
. Give details about how and why something
Explain
occurs.
Justify Give evidence to support an idea/point of view

Present, in logical order, the stages that result

Show how... . .
in something

Give only the main points stated in the

Summarize . . .
stimulus, in a concise way

Responses that are partially erased will not be credited.

Students should also practise writing their response in the space provided as indicated overleaf.

11



1. :l:na.c]:u Brovwn uszes his Food Pyramid to talk about the nutriional needs for all persons.
All persons (athletes and non-athletes) require a fotal of 20 servings of food per day. The

Coach azked what fraction of food 1= needad daily for the Food groups; Fruits, Vegetablaz

and Meat & Beans. John created the following table.

Fraction of recommend ed

Food Group Number of Servings
(daily) daily intake
Fruits 4 420
Vegetables & &20
Iizats & Beans 4 420

Is John's table correct? Explain vour answer wsing details from the pyvramid. Writa

vour answar i1 the bo below.

12

Student’s
response
should be
written here
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@ Science

Item Type:

Order Match

Science Sample Items and Solutions

- —

(Primary Knowledge

Carol wants to determine how hard three minerals, Mineral A, Mineral B )
and Skills measured:
and Mineral C, are. The results of Carol’s experiment are shown in the
table bel ¢ Analysing and
able below. interpreting data
Mineral X Mineral Y ) )
e Examine a selection
Mineral A scratches No No of materials/objects
to determine the
Mineral B scratches No Yes transparency,
i absorbency,
Mineral C scratches Yes Yes strength, magnetic
property, and heat
Place the three minerals, Mineral A, Mineral B and Mineral C, in order CO”dU_CtI'V_'ty of
materials in
according to how hard they are, from most hard to least hard. Shade the everyday use.
letter of the minerals in order of hardness.

Most Hard Least Hard

ﬂScoring:

o Level 2
Student correctly
orders the three
minerals or student
correctly orders any

@®®
@®®
@®®

Solution: _
two minerals.
Most Hard Least Hard o Level 1
Student has one
correct.
e Level 0

Student incorrectly
orders all three
minerals.

L JOIO)
@l JO
O@@

14




&g Science ®
Item Type:

- Select Response —

Single Selected

Which situation below shows the effects of loud sounds on humans?

@ The baby slept for several hours because of the music her mom DOK Level: 2
played. l ' l

The lady had to move closer to the radio to hear the music it was (
playing. Primary Knowledge
and Skills measured:

@ The child lost some of her hearing because she stood too close to

the speaker at the party. e Analysing and

interpreting data

@ The boy loves to hear the sound of the rain falling on the ground. « Obtaining and

evaluating
information

Solution: e Explain why loud

sounds can be

Correct answer C harmful

(Scoring:

o Levell
Correct option
choses

e Level0
Incorrect option
chosen

15



@ Science

The picture shows a common human activity. Use the picture to answer
the question which follows.

Based on the picture, which two (2) statements are likely effects that the
human activity can have on the environment?

The activity can add large amounts of carbon dioxide to the
atmosphere.

The activity can make the river unsafe for animals that depend on it.

The activity can lead to an increase in the number of fish that live in
the river.

@ The activity can cause the growth of germs and bacteria in the water.

Solution:

Correct options are B and D

16

Item Type:

Select Response —
Multiple Selected
Response

l DOK Level: 3 I

(Primary Knowledge
and Skills measured:

e Outline the effects
of human activities
on the environment

¢ Analysing and
interpreting data

[Scoring:

o Level 2
Both correct options
chosen

o levell
Only 1 of the two
correct options
chosen

e Level 0
No correct option
chosen




Item Type:
Table Grid

For each of the following, indicate by shading under the column whether
you agree or disagree with the statements about legal and illegal drugs.

Statement Agree Disagree
A drug that can be

bought at the
pharmacy is a legal O O
drug.

Only illegal drugs can
have a harmful effect
on the body. O O

A drug that can be
bought at the

pharmacy without a O O

prescription is an
illegal drug.

Solution:

Statement Agree Disagree
A drug that can be

bought at the 0 O

pharmacy is a legal
drug.

Only illegal drugs can

have a harmful effect O O

on the body.
A drug that can be

bought at the

pharmacy without a O O
prescription is an

illegal drug.

17

l DOK Level: 2 l

(Primary Knowledge
and Skills measured:

e Classify commonly
used drugs as legal or
illegal.

¢ Analysing and
interpreting data

e Evaluating
information

(Scoring:

e Level 3
All 3 correctly
shaded

o Level 2
Any 2 correctly
shaded

o Level 1
Only 1 correctly
shaded

e Level 0
None correctly
shaded

NOTE: only one shade
circle is allowed for
each row. More than
one shaded circle in a
row will not be scored




@ Science .

Below is a diagram showing the human digestive system. Use the
information to complete the activity that follows. l DOK Level: 1 I

(Primary Knowledge
and Skills measured:

Item Type:

e |dentify selected
organs in the human
digestive system
(mouth, oesophagus,
stomach, small
intestine, large
intestine) and
outline the path food
travels from mouth
to anus.

Shade the number that identifies the organ in the diagram above. [ )
Scoring:
Organs Label numbers
small e Level 2
aone O O @ ® 6 © Student correctly
csophages (1) (2) G ® & identifies all 4
organs.
s O @ @ ® 6 6
1 o Levell
mtfsieﬁ ® ©) @ @ @ © Student correctly
identifies 2 or 3
Solution: organs.
o Level 0
Organ Number on Diagram
Student correctly
small
intestine @ @ . @ @ @ identifies 1 organ or
does not correctly
cesoptiagus @ . @ @ @ @ identify any of the
anue O & ® @O ® @ organs.
. ® 0 0 @ 60 ©




@ Science

The list below contains the names of organs associated with the digestive DOK Level: 2
system. [_ ]

Item Type:

A. small intestine D. oesophagus .
Phag (Prlmary Knowledge
B. stomach E. mouth .
. . and Skills measured:
C. large intestine F. anus
e |dentify selected
) ) organs in the human
Shade the letter that corresponds to the word found in the list above so that digestive system
the resulting sentence is correct. Use all the options. Some options may (mouth, oesophagus,
be used more than once. stomach, small
Y (Y i . intestine, large
A) (B) () (D) (E) (F i i
Food enters our body through our = SEUED From there the mtegtme) and
D B (B 1B (B (P outline the path food
ﬁ i
food travels to the — — — = = through a narrow tube called the ;La;/s:]ssfrom mouth
(&) (B) (&) (D) (E) (F) . (&) (B) () (D) (E) (F) '
SUEEENENEY The food will then leave the — © _
B (&) (B () (B (F e Analysing and
and enterthe — — = == The food like matter will move interpreting data
(&) (B} (€) (o) (E) (F) (&) (B} (€) (o) (E) (F)
fromthe — = = =SS andenterthe o = e
The waste material will then leave the body through the (S coring:
wECDEE o Level 3
Student correctly
Solution: places all 6 words in
(B () (5 s (F their correct
A)(B) (C) (D F :
Food enters our body through our ~ — ' = ® . From there the location.
HOBEE®® o Level 2

food travels to the through a narrow tube called the

TG s (B ) (B () Student correctly

&) (B (C (EY(F . A C) (D) (E) (F

LA AR L) . =t L _The food will then leave the = .IH—-' LA ST PlaCES- 4 or 5 words
in their correct

By (CY (0 (B (FY .
. L) DENE location.

and enter the =" The food like matter will move

®EZDDEFE REeELE® o Levell

and enter the
Student correctly
place 2 or 3 words

from the
The waste material will then leave the body through the

AOEOOE® in the_ir correct
. location.
e Level 0
1 word chosen
19 correctly or no

words chosen



Below are drawings students did after investigating the properties of
light and how it interacts with objects of different characteristics.

:’ ‘/’ 4_\_/.: <~ light rays
\ ,
K D
Wikidiv Mirror

Which statement represents the most likely conclusion the students could
make based on the observations they made.

@ Light travels very fast and it passes through some objects.

@ A shadow is formed when light comes in contact with opaque
objects.

Light travels in a straight line and interacts with objects in the

@ same way.

When light comes in contact with shiny surfaces it changes
direction

Solution:

Correct answer D

20

Item Type:

Select Response —
Single Selected
Response

l DOK Level: 3 l

(Primary Knowledge
and Skills measured:

e Investigate the
interaction of light
with materials that
are shiny, dull,
transparent,
translucent and
opaque

e Investigate the
interaction of light
with lenses/mirrors

e Analysing and
interpreting data

(Scoring:

o Level 1
Correct option
choses

o Level 0
Incorrect option
chosen




For each of the following, indicate by shading under the column whether
you agree or disagree with the statements about human activities and the

effects they have on the environment.

Statements
The cutting down of large numbers of
trees can result in flooding in low lying
communities.
The cutting down of large numbers of
trees can affect the rainfall in an area.

The practice of replanting trees will not
help to reduce the greenhouse effect.

Solution:

Statements
The cutting down of large numbers of
trees can result in flooding in low lying
communities.
The cutting down of large numbers of
trees can affect the rainfall in an area.

The practice of replanting trees will not
help to reduce the greenhouse effect.

21

Agree

Agree

Disagree

Disagree

O
O

‘Q

Item Type:
Table Grid

DOK Level: 2

[Primary Knowledge
and Skills measured:

¢ Evaluating
information

e Outline the effects
of human activities
on the environment

(Scoring:

e Level 3
All 3 correctly
shaded

e Level 2
Any 2 correctly
shaded

o Level 1
Only 1 correctly
shaded

e Level 0
None correctly
shaded

NOTE: only one
shade circle is
allowed for each row.
More than one shaded
circle in a row will
not be scored




@ Science

The bar graph shows the results of a year long school exercise
programme. Some students were asked to exercise 1-2 days a week, and

some students were asked to exercise 3-4 days a week, while other DOK Level: 3
students were asked to exercise 5 days a week. One group of students did

no exercise.
. (Primary Knowledge
Bar Graph Showing the Percentage of the and Skills measured:
School's Population that is Obese after Exercise A " .
ssess the causes 0
Programme ¢ FASSESS Tk
g obesity, diabetes and
a ® malnutrition
c 40 -
3 35 - .
2 ¢ Analysing and
% 30 - . .
2 5 interpreting data
§ 20 - . .
° 15 - e Making predictions
g 10 - and using evidence
g 5 | to support an idea.
& o0 -
no days 1-2days 3 -4 days 5 days
Number of Days of Exercise each Week (Scoring:
o Level 3
. . - . All three correctl
Based on the information in the bar graph, indicate by shading under the shaded y
column, whether there is evidence to support the statement, or there is no
evidence to support the statement. o Level 2
Any two correctly

Evidence to No Evidence
Statement support to Support shaded

The more children exercise

i i Level 1
the more likely they will °
become obese. O O Only one correct
shaded
There are more girls who
are obese than boys. O O o Level 0
Less than 15% of children None correctly
may become be obese if O O shaded

they exercise 5 days a week. NOTE: only one

shaded circle is

allowed for each row.

More than one shaded
circle in a row will not

22

be scored.




@ Science

Solution:

Evidence to No Evidence

Statement support  to Support

The more children exercise

the more likely they will
become obese. O O

There are more girls who

are obese than boys. O O

Less than 15% of children

may become be obese if
they exercise 5 days a week. O O

23



The table below gives a description of three different mixtures.

The mixture contained tiny
Mixture A solid particles that did not
dissolve and sank in the liquid.

The mixture contained salt and

Mixture B
water.

The mixture contained tiny
Mixture C particles that could be seen
floating throughout the liquid.

The statements below are methods that could be used to separate each
mixture. Select the mixture A, B or C on the right that is best separated by
the method on the left.

Method Mixture

Boil the mixture so that the
water evaporates leaving the @ @
solid material behind.

Allow the particles to settle to
the bottom of the liquid and @ @
gently pour off the liquid.

Pour the mixture through filter @ @

paper and collect the particles.

24

Item Type:

Order Match

l DOK Level: 1 l

(Primary Knowledge
and SkKills measured:

e Demonstrate the
separation of selected
types of mixtures
using various
techniques.

¢ Analysing and
interpreting data

(Scoring:

e Level 3
All 3 mixtures
correctly shaded

e Level 2
Any 2 correctly
shaded

o Level 1l
Only 1 correctly
shaded




@ Science

Solution:

Method Mixture

Boil the mixture so that the
water evaporates leaving the @ O @

solid material behind.

Allow the particles to settle to O @

the bottom of the liquid and
gently pour of the liquid.

Pour the mixture through filter @ O

paper and collect the particles.

25



@ Science

Grade Five Mock Performance Tasks
(Science)

General Instructions:

This task has six questions. You are to complete all six questions.

Fuel for a Wining Athlete

The school coach (Coach Brown) has invited you and two other students,
John and Mary, to join the coaching team at your school. The coaching
team is responsible for preparing the school team for next year’s Junior
Athletic Championships. The boys and girls on the school team include
runners, hurdlers, high and long jumpers.

Your first task is to help the coach to decide on the athletes’ meal plan for
the first day of competition. Coach Brown provides two documents to
assist you in planning the meal. They are:

1. A Food Pyramid with general nutritional guidelines for all persons,
and
2. An article with the nutritional guidelines for young athletes.

Instructions to begin:
Carefully examine the Food Pyramid and read the article provided by the
coach. These will help you to answer the questions which follow.

26



- 1 SERVING

DAIRY: MEATS & BEANS:
2 SERVINGS 2 SERVINGS
FRUITS:
4 SERVINGS
VEGETABLES:
5 SERVINGS
STAPLES:

6 SERVINGS

SERVING = amount per day

27



Article

REACHING THE FINISH LINE

Young athletes who want to maintain proper growth and to perform well
in athletic competitions should eat a well-balanced diet. An ideal diet is
made up of 45% to 65% carbohydrates, 10% to 30% protein, and 25% to
35% fat. Fluids are very important for maintaining hydration. Good
hydration begins before the athletes even set foot on the track or playing
field. Student athletes should drink water or fluids before, during and after
athletic events to prevent dehydration.

The timing of meals is important to ensuring top performance. Meals
should be eaten a minimum of three hours before an athletic event. On the
day of the competition, meals should focus on carbohydrates for energy.
Proteins should be spread throughout the day. Snacks should be eaten one
to two hours before an event. Recovery foods should be consumed 30
minutes after an event and again within one to two hours after an event.
Recovery foods allow muscles to rebuild. These foods should include
protein and carbohydrates.

Adapted from: Sport nutrition for young athletes

Question

1. Look at the statement below. Place a (v') in the box to match the
source that supports each statement.

Tick only one box for each statement.

Statements The Coach Both Neither
Article Brown’s | Sources | Sources

Food

Pyramid

The ideal diet should
include mostly cooked food

Fluids are very important
for the ideal diet

The ideal diet comprises
about 20% protein

28




@ Science

Student Responses:

Student A
Statements The Article Coach Brown’s Both Neither
food pyramid sources
The ideal dict should . unres
include mostly cooked
food L
Level 3 —
Fluids are very evel 3
important for the ideal
diet Lo . All matches are
correct
The ideal diet
comprises about 12%
protein 4 ﬂ
Student B
Statements The Article | Coach Brown’s Both Neither
food pyramid sources source

The ideal diet should

include mostly cooked

food

Level 2 — Any

Fluids are very two matches

important for the ideal are correct

diet

The ideal diet

comprises about 12%

protein \/

29



@ Science

Student C

Statements The Article | Coach Brown’s Both Neither

food pyramid sources source

The ideal diet should
include mostly cooked
food

Level 1 —
Fluids are very

;ﬁomtfomeim 3 1 match is

3 correct

The ideal dict
comprises about 12%
protein : 3

Student D

Statements

The Article

Coach Brown’s

Both

food pyramid

sources

Neither

The ideal diet should
include mostly cooked
food

Fluids are very
important for the ideal
diet

The ideal diet
comprises about 12%
protein

Level 0 —

All incorrect

30



@ Science

2. Coach Brown uses his Food Pyramid to talk about the nutritional
needs for all persons. All persons (athletes and non-athletes) require a
total of 20 servings of food per day. The Coach asked what fraction of
food is needed daily for the Food groups; Fruits, Vegetables and Meat
& Beans. John created the following table.

Food Group Number of Servings Fraction of
(daily) recommended daily
intake
Fruits 4 4/20
Vegetables 6 6/20
Meats & Beans 4 4/20

Is John’s table correct? Explain your answer using details from the
pyramid. Write your answer in the box below.

Scoring:

v Level 3 - Correct answer with full explanation (fractions and servings). Answer may
contain a minor error. Minor error: 1 of the servings/fractions is incorrect or the error is
carried through for a food group.

v Level 2 — Correct answer with incomplete explanation with reference to serving or
fraction only. Or no answer with full and correct explanation. Or partially correct with
incomplete explanation (serving or fraction incorrect or missing). Or partially correct
answer with full explanation, may contain a major error.

v Level 1 - Limited answer no explanation. Or no answer with incomplete explanation. Or
information is transcribed.

v Level 0 — Blank or of- topic or uninterpretable

31



@ Science

Student Responses:

Student A

-_(50"\’\2)*“\)\? 1S oY Corceck, Welt VeRERTS s SUPPOSe 7o be
5. Meats § bmas  is Suppose to be Z.
' Level 3 — Correct
- answer with full

20 ‘{ for Mcats = ) )
e s SRt 2 explanation (fractions
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@ Science

3. Before creating the meal plan, Coach Brown asked the team to
compare the nutritional recommendations of the article and his Food
Pyramid. Mary suggests using a table for comparison. In the table
below, Mary presented the data from the article only. Add the data
from Coach Brown’s Food Pyramid to the table that Mary created.

Nutrients % of daily intake from
article
Carbohydrates 45% to 65%
Protein 10% to 30%
Fat 25% to 35%

Scoring:

v" Level 3 — Successful integration of information within and among sources of
information. The table is completed and extended correctly (table headings must be
included). Or the table completed and extended correctly with minor representational
errors (one of the daily servings is incorrect; percentage daily servings or fraction of
daily servings is incorrect).

v Level 2 — Successful integration of information within and among sources of
information. Major errors in quantitative data representation (e.g., between 2-3
servings or percentage or fractions are incorrect or missing). Or successful integration
of information within and among sources of information. Only one piece of missing or
incorrect information (table heading is allowed). Or partial successful integration of
information within and among sources of information (at most two of the food groups
are incorrect or missing). Quantitative data representation error (at most 3 errors).

v Level 1 — Unsuccessful integration of information within and among sources of
information (3 or more incorrect or missing). Significant quantitative data
representation error (5 or more are incorrect or missing).

v Level 0 — Blank or of- topic or uninterpretable
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@ Science

Student Responses:

Student A
Yo of daily - )
Nutrients | intake from f;::é%ﬂ@' : { Level 3 - S“?CeSSfUI
the Article 1 5 : integration o
Carbiobiycraten | 4535 10 656 Fa . \ 5 information within and
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- il __F Tf extended correctly
i = (table headings must be
6 included).
i
_j
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Student B
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Student C
% of daily >
Nutrients intake from S(,\’L\(\“%
the Article <
= S
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Student D
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Nutrients intake from

the Article
Carbohydrates | 45% to 65%
Protein 10% to 30%
Fat 25% to 35%

0% o 30
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@ Science

4. Before creating the event day meal plan, Coach Brown wants the
coaching team to analyse the favourite breakfast of his top runner,

Mark Johnson.
Mark Johnson’s Breakfast
Meal Food Number of servings
Breakfast Scrambled egg 1
Orange 1
Milk 1

If Mark is running a practice race 3 hours after breakfast, is this
breakfast suitable for him to perform at his best? Use data from the
article and the food pyramid to support your answer.

Explain your answer using words, numbers, charts or tables.

Scoring:

v" Level 3 - The correct answer with full explanation of how the information in the article
and the pyramid supports the position. The explanation may contain minor non-science
errors.

v Level 2 — The correct answer with full explanation of how the information in the article
and the pyramid support the position. The response is supported by related details from
one source. Or correct answer with full explanation provided. No evidence from article
or pyramid is used to support response. Or incorrect answer with full explanation of
how the information in the article and the pyramid support the position. Or no answer
with full information of how the information from at least one source supports the
position.

v Level 1 — Answer with explanation is incorrect or insufficient or missing. Or the
answer is supported by wrong evidence or not supported by evidence at all. Or answer
only, no explanation.

v Level 0 — Blank or of- topic or uninterpretable or irrelevant.
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Students Responses:

Student A
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Student C

Level 1 —Correct answer
only, no explanation.

Student D
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@ Science

Use information from question 2, 3 and 4, as well as the article and
Coach Browns pyramid then answer the following question.

5. The coach asks that you use information from the food pyramid and
article to create a balanced race day meal plan for Mark. Using the
table below, write the foods which Mark should have for breakfast,
before and after the race and dinner. Include the number of servings
for each food.

Meal/Time Food Number of servings

Breakfast

3 hours before race

1 hour before race

Mark’s Race

1 hour after race

Dinner

Scoring:

v Level 3 - A complete response that includes evidence of appropriate choice of foods
based on article and pyramid. Servings should reflect proportions from the article and
pyramid. These responses contain minor errors such as the servings are incorrect. Or the
response includes errors in one food cell description.

v Level 2 — A response that includes partial evidence of appropriate choice of foods based
on article and pyramid. The response contains major errors (the proportions of servings
for different food groups are not correct). Or at least 3 food cell descriptions are correctly
filled in.

v Level 1 - A response that includes limited evidence of appropriate choice of foods based
on the article or pyramid. Or two or less food cell descriptions filled correctly.

v Level 0 — Blank or of- topic or uninterpretable or irrelevant.
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@ Science

Students Responses:

Student A

Meal/Time Food Number of

servings
DiFskihst Stew chic ken
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Student B

Meal Time p Food - | . Numberof | (Level 2 _A \
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Student D

MealiTime Food T Number of
Breakiust | e e
/
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4
= .
1 hour before race
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MARK’s RACE i

1 hn-ulr after race

Level 0 —
Uninterpretable

Dinner
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@ Science

6. Does your meal plan from question 5 represent a good race day eating
plan for an athlete? Include nutritional information on the foods you
selected, details from Coach Brown’s Food Pyramid and the article in
your answer.

Scoring:

v Level 3 - Complete response of how the information in the article and the pyramid
adds to answering the question. Answer supported by comprehensive, relevant and
specific evidence from the two sources and nutritional information. The response
contains evidence of minor errors (e.g., missing reference to one (1) of the following:
recovery foods, hydration or carbohydrates).

v Level 2 — Adequate response of how the information in the article and the pyramid
adds to answering the question. Answer supported by relevant but general evidence
from the two sources. The response is incomplete or contains evidence of major errors
(e.g., missing reference to two (2) or more of the following: recovery foods, hydration
or carbohydrates).

v Level 1 - Limited or incorrect response of how the information in the article and the
pyramid adds to answering the question. Answer supported by minimal, irrelevant and
incorrect evidence from the two sources.

v Level 0 — Blank or of- topic or uninterpretable or irrelevant.
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@ Science

Students Responses:

Student A
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g ! Item Type:
Language Arts

Selected Response

Language Arts Sample Items and (oo Lewe )
Solutions
ITEM 1 [Primaljy Knowledge\
and Skills measured:
Apply or edit grade
Read the sentences carefully, then select the sentence in which capital appropriate grammar
letters are correctly used. usage, capitalization,
punctuation, and
@ Mr. A. S. Mullings is the new principal of New Leaf primary spelling to clarify a
school. message.
Mr. A. S. Mullings is the New Principal of New Leaf Primary
School.
@ Mr. A. S. Mullings is the new Principal of New Leaf Primary
school.
@ Mr. A. S. Mullings is the new principal of New Leaf Primary
School.
Solution: \ )

@ Mr. A. S. Mullings is the new principal of New Leaf primary

school. f o

Mr. A. S. Mullings is the New Principal of New Leaf Primary
School.

coring:
@ Mr. A. S. Mullings is the new Principal of New Leaf Primary

1 mark

school.
Mr. A. S. Mullings is the new principal of New Leaf Primary
School.

\\ /
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Item Type:
g Language Arts yp

Selected Response
ITEM 2

Instructions:

[ DOK Level: 2 ]

Read the paragraph and complete the task that follows it.

As my family drove home last evening from Negril, the sun was going (Primary Knowledge\
down. We were treated to a beautiful sunset! All around over our heads, and Skills measured:
the entire sky was pretty. In a few minutes the amazing show was over.
The sun disappeared completely, and the brightly coloured sky faded to
dark gray as the night began.

Strategically use
language and
vocabulary
appropriate to the
purpose and audience
when revising or
composing texts.

Revise the paragraph by choosing the phrase with the BEST descriptive
detail to replace was pretty.

@ had a whole lot of bright colours mixed together K )
shone because it was almost time for darkness
@ glowed with astonishing shades of pink and gold (Scoring' )
@ looked different than it usually does during the day 1 mark

Solution \ y

@ had a whole lot of bright colours mixed together
shone because it was almost time for darkness
‘ glowed with astonishing shades of pink and gold

@ looked different than it usually does during the day
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g Language Arts
Item Type:

ITEM 3 Single Select Response

I’'m writing about my dog Ruffus. When the dog was just ten weeks old, [ DOK Level: 2 ]
he was picked up on the streets of Kingston and taken to a shelter. The

shelter could keep a dog only for a short time before he finds a new home. ( \
When I saw this puppy, I couldn’t keep my eyes away from his sweet face. Primary Knowledge

I knew that | wanted to name this puppy Ruffus, and take him home. With and Skills measured:

the help of my mom, | adopted him and brought Ruffus to our home. Now,

Ruffus is almost one year old, and he loves me unconditionally. Strategically use

language and

vocabulary
i . appropriate to the
Choose the best phrase to add detail about the main character. surpose and audience
() 1would be able to give Ruff when revising or
would never be able to give Ruffus away. COmpoSiNg texts.

Ruffus is now a playful and happy dog.

\. W,

(® Ruffus is a good watch dog. 7 ~\
Scoring:

(© 1volunteered at a shelter where I saw this little puppy.

Solution 1 correct: 1 mark

| would never be able to give Ruffus away. \_ .

Ruffus is now a playful and happy dog.

I volunteered at a shelter where | saw this little puppy.

ONON NO)

Ruffus is a good watch dog.
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[
g Language Arts Item Type:

Order Match
ITEMA4

DOK Level: 2 ]

This is the beginning of a story written by a student who wants to use
dialogue.

Sam was always afraid of different crawling and flying insects and lizards.
Sam was screaming and running away every tlmg he saw a moving sp!der, (Primary Knowle dge\
or a running lizard. When Sam went on a field trip with his class, he didn’t .

i . . and Skills
want his classmates and his teacher to know he was scared of insects. measured:

1. “Are you afraid of this lizard, Sam?” the teacher smiled as she * ldentify and

order
moved the tree branch away from Sam. main ideas and
2. Sam almost fainted when he saw a lizard sitting on a tree branch. supporting
details
3. “Not at all. Well, not really.” Sam smiled hoping that his teacher
e Interpret
hadn’t noticed. messages moods,
feelings and

In the dialogue that the student wants to use, place the three
sentences, marked 1, 2 and 3, as shown above, in the correct order
from the start of the dialogue to the end.

attitudes
.
Scoring: \

Level 3: 3 correct

AY4

Which sentence should come first?

Which sentence should come second? Level 2: 2 correct

Level 1: 1 correct
Which sentence should come third?

© 0
©® © ©
© © ©

Level 0: O correct

Solution
\_ W,

Which sentence should come first?

Which sentence should come second?

Which sentence should come third?

© @ O
ONON
® ©©
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g Language Arts

ITEM5

Instruction: Read the following poem carefully then answer the
question.

The Flattered Flying Fish

Said the Shark to the Flying Fish over the phone:
“Will you join me tonight? I am dining alone.
Let me order a nice little dinner for two.

And come as you are, in your shimmering blue.”

5  Said the Flying Fish: “Fancy remembering me,
And the dress I wore at the Porpoises' tea!”
“How could I forget?” said the Shark in his guile:
“I expect you at eight!” and rang off with a smile.
She has powdered her nose; she has put on her things;
10 She is off with one flap on her luminous wings.

Oh little one, light-hearted and vain,

The moon will not shine on your beauty again.

Author: E. V. Rieu

Which two statements BEST describe the main idea in the poem?

@ Not everyone will love you if you are beautiful.
It is always good to think before you act.
@ Sharks are always trying to eat other fish.

(®) Things are not always what they seem.

Solution

@ Not everyone will love you if you are beautiful.
‘ It is always good to think before you act.
@ Sharks are always trying to eat other fish.

@ Things are not always what they seem.
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Item Type:

Multiple Selected
Response

[ DOK Level: 3

]

(Primary Knowledge\

and Skills measured:

e Use information

emerging from
prose, poetry,
songs to make
inferences/deducti
ons

e Extract and

interpret
information
presented at the
literal inferential
and critical levels.

e Infer main idea

from both
narrative and

K expository writing)

L

Scoring: )
1 correct: 1 mark
2 correct : 2 mark

Y.




g Language Arts

Instruction: Read questions 6 and 7 below carefully. Based on the
context of the underlined word, choose the word which is opposite in
meaning.

ITEM6

Since it was a school day, Denise thought it was peculiar that she saw no
children on the street during her drive to work.

(») normal
unusual
© odd
®) weird

ITEM7

John was bewildered when he saw the math teacher writing letters on the
board that were to be added and subtracted. Aren't letters for reading
class? John thought to himself.

(») baffled
enlightened

(© puzzled

@ perplexed
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Item Type:

Single selected response

[ DOK Level: 1 ]

(Primary Knowledge
and SkKills measured:

e ldentify analogies
and other word
relationships,
including
synonyms and
antonyms, to

\ determine the

[Scoring:

1 correct : 1 mark




g Language Arts

ITEM 8

Instruction: ldentify the abstract noun in the sentence below.

The prefect was asked to man the class in the teacher’s absence.

(») absence

man
© class
©

teacher

Solutions:

6. A.normal
7. B. enlightened

8. A. absence

53

Item Type:

Single selected response

DOK Level: 1

fPrimary Knowledge
and Skills measured:

e Distinguish
between abstract
and concrete nouns




g Language Arts Item Type:

ITEM 9 Table Grid

Read each passage below, then indicate what the author’s purpose is for [ DOK Level: 2 ]
each passage

(Primary Knowledge\

Entertain Persuade Inform and Skl I IS measu red:

e Cite evidence
What do you do with aluminium cans? Do in text which

you throw them in the trash, or do you identifies the

recycle when you are finished with them? ,
At the rate we are filling our landfills, we @ @ a.uthor.s ;
will not have anywhere else to put our viewpolin

trash. If you recycle, you will help the

environment. \ ‘

This time, when Mr. Smith called on
Miss Annie, Boysie could not deny that he

had climbed the guinep tree. Boysie could (Scoring: \
not see his mother’s face from the hiding
place he had found, but he knew from the @ @ Level 3: 3 correct

tone of her voice that his punishment
would be serious this time. He knew that
he had to face his mother, but he was Level 1: 1 correct
prepared to do so only after Mr. Smith had
left.

Level 2: 2 correct

Level 0: 1 correct

\. W,

We need a change at our school! I am the
person for this job. I am an honour student
who is involved in many different

activities. | know I can make a difference! @ @

Vote for me, and our school will be even
better.

Vote Candice Park!
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g Language Arts Item Type:
Solution: Table Grid

Entertain Persuade Inform

What do you do with aluminium cans? Do

you throw them in the trash, or do you

recycle when you are finished with them?

At the rate we are filling our landfills, we @ .
will not have anywhere else to put our

trash. If you recycle, you will help the
environment.

This time, when Mr. Smith called on

Miss Annie, Boysie could not deny that he

had climbed the guinep tree. Boysie could

not see his mother’s face from the hiding

place he had found, but he knew from the

tone of her voice that his punishment . @
would be serious this time. He knew that

he had to face his mother, but he was

prepared to do so only after Mr. Smith had

left.

We need a change at our school! | am the

person for this job. I am an honour student

who is involved in many different

activities. I know | can make a difference! @ . @
Vote for me, and our school will be even

better.

Vote Candice Park!

ITEM 10
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g Language Arts

Read the poem then indicate whether each statement is supported or
not supported.

Nature

We have neither summer nor winter

neither autumn nor spring.

We have instead the days

when the gold sun shines

on the lush canefields - magnificently.

The days when the rain beats

like bullets on the roofs

and there is no sound

but the swish of water in the gullies

and trees struggling in the high Jamaica winds.
Also there are the days

when leaves fade from off guango trees

and the reaped canefields

lie bare and fallow to the sun.

But best of all, there are the days

when the mango and the logwood blossom
When bushes are full of the sound of bees

and the scent of honey.

When the tall grass sways and shivers

to the slightest breath of air.

When the buttercups* have paved the earth with yellow stars
and beauty comes suddenly, and the rains have gone.

Author: H. D. Carberry

* buttercups: large flowering plant with shiny, yellow petals

Statement Supported Not supported
The poet lives in a place that has a

tropical climate. O O

The poet is describing a hurricane. O O
Bullets fell on the roof O O

56

[ DOK Level: 2,1, 2 ]

(Primary Knowledge\

and Skills measured:

e Interpret messages
moods, feelings
and attitudes
conveyed in
stories, poetry and
prose.

e Use context clues
techniques to
determine word
meanings

e Use evidence from
the text to deduce

implicit
\ information. )
Scoring: A
1 correct: 1 mark
\_ Y.




g Language Arts

Solution:

Statement Supported Not supported
The poet lives in a place that has a

tropical climate. ‘ O

The poet is describing a hurricane. O ‘
Bullets fell on the roof O ‘

?
l Item Type: Table Grid l
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g Language Arts

Grade Five Mock Performance Tasks
(Language Arts)

Instructions Part 1 (45 minutes)

Now that you have read the sources, answer the questions below. Your DOK Level: 2

answers will be scored. You may refer to the important points you made, evel.

as well as the sources. Your answers to these questions will help you write

your essay in Part 2.

Question 1 (Primary Knowledge\

For each of the following statements, indicate using a tick (v') whether the

. o . and Skills measured:
information in Source 1, Source 2, both sources, or neither source supports

each statement (You can tick only one box for each statement). e Organizing
information located
Statement Sourcel | Source2 | Both Source Neither in various sources
supports | supports | 1 and Source | Source 1 nor
2 support Source 2 .
support e |dentifying and

ordering main ideas

Donald Quarrie and supporting
is considered one details

of the best
athletes to \ )

represent

Jamaica in track [ ) \
and field. Scoring:

Jamaica’s first o Level 3-

Olympic gold in Student selects three

the 400 metres correct responses

was won in 1948

Jamaica’s o Level 2 -

athletes have Student selects two

been able to do correct responses

well in athletics
as well as their

school work e Level 1 — Student

selects one correct
response
o level 0
Student makes multiple
selections within each
row OR all the
Student Responses: responses selected are
incorrect.

\_ )
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Student A
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considered one of the - | » { ; .
best athees o represcnt | l | |
lamuéa intrackand | O | i = Poral ‘
ﬂé‘d. | 5 )I § 3 J 3 |
Jamaica®s first Olympic | ! | | .
gold in the 400 metres | | | i |
was won in 1948 ’ ‘“ N W . !
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(Level: 2

The student has
correctly identified the
sources that support
the statements in the
first column. There is
only one tick per row.

(Level: 1

The student has
correctly identified
two of three sources
that support the
statements in the first
column. There is only
one tick per row.

(Level: 0

The student has
incorrectly identified
the sources that
support the statements
in the first column.
There are multiple
ticks per row.
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What details in Source 1 show you that Jamaica’s athletes are ranked
among the best in the world? Use the details from Source 2 and 3 to
support your answer.

Student Responses

Student A

H 1 f!‘“ (Level:B
L]

O lyam ' el o dl s ONE to TWO

af e lie 41-'I~€- 4{43::.?'_4&1__ correctly stated
r-;,;: i ,ﬂmﬂm% o bBRme Gr JA Ve A [isd details from Source 1

a,-l- e Com 2= A 2L a}meﬂ TWO correctly
stated details from
A o W: rv-Km,a.wja_s 2L II7.[3:’,1'-1 !—/e = M:E” Source 2 and Source
wels bom_ln Plocooden., Wancdroede 3.
Tonsidea T 1437 I"’b weer s Hve Tavacicas (At least one detail
AH[-&J—E ,.,..LJ AW o TL f‘é}””“‘ s MUST be from each
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e Ordoeret destinetion

source)

i
\ o

_2_61/)\&(4 fétlﬁfﬂﬂd’ﬁit’émnzﬁ' .]_m__

2 ole wa cdue Aladtw c -6
Aol 2 f:pfwe-rm-\g'ﬁﬁ

bonze. .

Student B
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Part 2

You will now review your important points and the sources, then plan,
draft and write your letter.

You may also look back at the answers you wrote to earlier questions.

Read the task and the information about how your letter will be scored,
then begin your work.

Task

You are a member of your school’s track team. Your mother is concerned
that if you continue to be a part of the track team it will eventually cause
your grades to fall. She is suggesting that you to give up the track team.

Using the information you have written from Sources 1, 2, and 3, write a
letter to your mother in which you explain four reasons you think it is a
good idea to remain on the track team.

For your letter to be well-written, it should have:
e The parts of a letter
e Explanation of four points
e good organization and a point of view
e details from more than one source
e followed rules of spelling, punctuation, and grammar

Now you can start working on your letter.

Student Responses
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Student A

u!{'h?ﬂ
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Student B
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Student C
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(Level: 1

Student D One bit of information

TR A B : o ¥ related or unrelated to
el O the task (may be the
B IT t.'c-h"Z:bi"ﬁ address of the letter,
Nt Moo the salutation or just

: . T : . what could be

AL y“m—&b\ﬂmﬁjﬁlﬁ-‘—m considered to be the
' body of the letter).

Information given

must be a complete

thought.

Student E (
Level: 0

No response,
scribbles,
— Gbede foiulnopacskuyway z transcription of tasks,
: ' sentence fragments,
list of words.
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Item Type:
. . Multiple Selected
Social Studies Sample Items and Response
Solutions
ITEM 1 [ DOK Level: 3 ]
Country D is on the road to self-government. Which two (2) options
present arguments in support of the country’s move? [ . \
Primary Knowledge
@ Citizens of the country will now have a say in how the country is and Skills measured:

overned.
g Weigh the arguments

Citizens will now be able to participate in peaceful demonstrations. for and against being

® The country will now be able to progress in the way that its an independent nation

citizens think is best. and draw conclusions
" ] ) about Jamaica’s
(®) Citizens will now be free to travel to other countries. decision to purse
independence.

W,

Citizens of the country will now have a say in how the country is [SCOI'ingi \
governed. e Level 2

Both correct
options chosen

Solution:

Citizens will now be able to participate in peaceful demonstrations.

The country will now be able to progress in the way that its
citizens think is best. e Level 1

Citizens will now be free to travel to other countries. Only one of the
two correct

options chosen

© 0 e

e Level O
No correct
option chosen

\. .
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?
ITEM 2 Item Type:
Multiple Selected
) . Response
The Culture Club of your primary school wants you to write an essay
about the East Indians who settled in the Old Harbour community as
indentured servants. Which two (2) of the following sources would be DOK Level: 2
most helpful in writing the essay? [ OK Level: ]
Church and school records
@ [Primary Knowledge\
Photographs of old buildings and Skills measured:
. . ) Gather
(©) The headstones in different burial plots/cemeteries information from
) ) ) multiple sources
@ Interviews with current community members using the origin to
guide the
selection.

Solution:

@ Church and school records \ )

Photographs of old buildings ( \
o ) ) Scoring:
@ The headstones in different burial plots/cemeteries
® Interviews with current ity memb © Level 2
nterviews with current community members Both correct options
in different burial plots/cemeteries chosen
o levell

Only one of the two
correct options
chosen

e Level 0
No correct option
chosen

\_ W,
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?
3&& Social Studies Item Type:
ITEM 3 Table Grid
DOK Level: 2
Primary Knowledge
and Skills measured:
Examine the rights of
a Jamaican citizen and
develop a list of
responsibilities of a
citizen that
complement these
In the cartoon above, two Jamaican citizens are having a conversation. \rights. J
John has concerns about Sonia’s child who has not been going to primary
school.
For each of the following, indicate by shading the circle, whether it (Scoring: \
supports OR does not support what John is trying to tell Sonia.
e Level 3
Statement Support Does Not Support All three
Primary education is a right in O O correctly shaded
Jamaica
e Level 2
Parents have a right to deny O O Any two
their children education Correctly shaded
Rights come with some
responsibility O O * Level 1
Only one correct
shaded
Solution:
Statement Support Does Not Support e Level O
Primary education is a right in . O None correctly
Jamaica shaded
Parents have a right to deny O o NOTE: only one
their children education shaded circle is
_ _ allowed for each
Rights come with some . O row. More than
responsibility one shaded circle
in a row will not
be scored
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ITEM 4 Item Type:

Yes/No with
explanation

Jamaica, Haiti and Cuba took the same path
towards independence.

[ DOK Level: 2 ]

(a) Do you agree with this statement? Yes O No O

(Primary Knowledge\

(b) Which of the following two (2) reasons support your choice in (a)

above? and Skills measured:
. S . ) Compare the path
@ The countries gained independence during the same period. to independence
The countries took different paths; some fought for their tak?? by Jamaica,
independence while the other came to an agreement with its Haiti and Cuba.
colonizer.

@ The countries had military leaders who won wars which led to

their independence. \ )

@ The countries did not gain independence from the same European
(Scoring: \

Nation.
. Level 2

Solution:

(a) Do you agree with this statement? Yes O No
Both correct options

chosen
(b) Which of the following two (2) reasons support your choice in (a)
Level 1
above?
Only one of the two
@ The countries gained independence during the same period. correct options chosen
The countries took different paths; some fought for their Level 0
‘ independence while the other came to an agreement with its )
colonizer. No correct Optlon
@ The countries had military leaders who won wars which led to chosen
their independence. K )
‘ The countries did not gain independence from the same European
Nation.
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?
Item Type:
=S Table Grid
A country’s national symbols and emblems are
important to its nationhood. [ DOK Level: 2 ]
evel:
Indicate, by shading the circle in the appropriate column, the reasons
which support or do not support the statement above. [ \
Primary Knowledge
Reasons Support Does Not and Skills measured:
Support
. Explain what
They help to foster economic development O O national symbols
They help to develop a sense of identity O O and emblems are
They help citizens to strive for quality O O and a1;1a1y setthe1r
education. importance to
nationhood.
Solution:
Reasons Support Does Not \ )
Support
They help to foster economic development O ‘ [ \
o Scoring:
They help to develop a sense of identity ‘ O
They help citizens to strive for quality O . e Level 3
education. All three
correctly shaded
e Level 2
Any two
correctly shaded
o Level 1
Only one
correctly shaded
e Level O
None correctly
shaded
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ITEM 6

v CDEMA
b |

Which two (2) of the following options describe how the agency
represented above fosters integration in the Caribbean?

®

©
®

It offers loan to small businesses in the Caribbean that sells
disaster relief supplies.

It offers emergency response and relief to Caribbean countries
affected by a disaster.

It offers media services to Caribbean countries during a disaster.

It provides information about disasters in the Caribbean.

Solution:

| _NON NO)

It offers loan to small businesses in the Caribbean that sells
disaster relief supplies.

It offers emergency response and relief to Caribbean countries
affected by a disaster.

It offers media services to Caribbean countries during a disaster.

It provides information about disasters in the Caribbean.
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Item Type:

Multiple Selected
Response

[ DOK Level: 2 ]

(Primary Knowledge\

and Skills measured:

o Identify
regional
organizations,
describe their
functions and

e Use evidence to
assess how
these
organizations
foster
integration
(CARICOM,
CDEMA, CXC,
UWI, West
Indies Cricket
team)

\.
(Scoring:
e Level 2

Both correct
options chosen

W,
~N

e Level 1
Only one of the
two correct
options chosen

e Level O
No correct option

chosen
Wy,

\.
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ITEM7

For the three (3) persons listed, indicate whether a push or pull factor led

them to Jamaica.

a. Chin Lee lived in Portland during the 19" century. He migrated
from China to improve his living conditions.

b. Shi Yen moved to Jamaica from his hometown in China 20 years

after emancipation.

C. Rajpaul Singh left his family in 1900 and came to Jamaica because

they were very poor.

Chin Lee
Shi Yen
Rajpaul Singh

Solution:

Chin Lee

Shi Yen
Rajpaul Singh

Push Factors  Pull Factors
O O
O O
O O
Push Factors  Pull Factors

O o
O o
o O
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Item Type:
Table Grid

[ DOK Level: 1 ]

(Primary Knowledge\

and Skills measured:

Distinguish
between the pull
and push factors
that led to
migration of the
East Indians and
the Chinese to the

Caribbean.
\_ A
(Scoring: \

e Level 3
All three
correctly shaded

e Level 2
Any two
correctly shaded

e Level 1
Only one
correctly shaded

e Level O
None correctly
shaded

\. S
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e 0 ; .
=8« Social Studies Item Type:
ITEMS8 Multiple Selected
Response
Read the following and then answer the question below.
[ DOK Level: 2 ]

Fifty people met in the center of Lionel Town to protest the

building of a new road. Some were holding placards which said [P _ Knowled \
rimary Knowledge

"We want this place for a park." While others were singing "Our and Skills measured:
children will be in danger from trucks and cars."” Distinguish
between rights
: N . L . and
Which two (2) of the following rights did the people exercise in their responsibilities of
protest? citizens
The right to:

(a) free speech

free press \ )
(© distribute information (Scoring: \

assemble peacefull
@ P y o Level 2
(&) ahealthy environment Both correct options
chosen
Solution: e Level 1
Only one of the two
‘ free speech correct options
chosen
free press
e lLevel 0
(© distribute information No correct option
chosen
. assemble peacefully
(&) ahealthy environment

\_ W,
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ITEM 9

Without the atmosphere the Earth will always
be cold.

For each of the following, indicate by shading the argument that supports

or does not support the statement above.

Argument

The atmosphere contains gases that
protect the Earth’s surface from the
Sun’s harmful rays

The atmosphere contains greenhouse
gases which acts like the Earth’s
blanket

The atmosphere contains gases that
helps to keep the Earth cool

Solution:

Argument

The atmosphere contains gases that
protect the Earth’s surface from the
sun’s harmful rays

The atmosphere contains vital
greenhouse gases which acts like the
Earth’s blanket

The atmosphere contains gases that
helps to keep the Earth cool

77

Supports

O

Supports

O

Does not
support

O

Does not
support

Item Type:
Table Grid

[ DOK Level: 3 ]

(Primary Knowledge\

and Skills measured:

Use evidence to
support
arguments which
show the
importance of
maintaining the
Earth’s
atmosphere

\. W,

ﬂScoring: \

e Level 3
All three correctly
shaded

e Level 2
Any two correctly
shaded

e Levell
Only one correct
shaded

o Level 0
None correctly shaded

NOTE: only one
selection is allowed
for each row. More
than one tick in a row
will not be scored

\. W,
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ITEM 10

Examine the graphs provided and respond to the task that
follows.

Big Tree Village: 54 meters above sea level

33°C 33°C
\Z‘C 32;/-
e -n®
31°C 31°C
31°C 0 .
=S J\'OT
30°C D ===

3aC

Orange Town: 2000 meters above sea

14°C 14°C 14°C 14°C 14°C 14°C

gad O O— — — C o= 2 D

From the choices given, shade one letter in each space so that the resulting
sentence that follows is correct.

Choices: (A) higher (B) cooler (C) same (D) hotter (E) lower

Orange Town is @®@@ in temperature
because it is of a @@@@ altitude than Big

Tree Village.

78

Item Type:
Order Match

[ DOK Level: 2 ]

(Primary Knowledge
and Skills measured:

Interpret simple
climate graph

ﬁScoring:

o Level 2
Both correct options
inserted

e Level 1l
Only one of the two
correct options
inserted

o Level0
No correct option
inserted
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Solutions:

Orange Town is @'@@@ in temperature
because it is of a '@@@ altitude than Big

Tree Village.

OR

Orange Town is @®@' in temperature
because it is of a '@@@ altitude than Big

Tree Village.
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Grade Five Mock Performance Tasks
(Social Studies)

General Instructions:

This task has two parts: Partl has three questions, and Part 2 has a
report.

EROSION IN GARDEN TAVERN

You are the leader of the environmental club of your school. Your
school principal has called you into her office to tell you about an
urgent project. “The people in your community are concerned about
erosion in the area. The plan is to have an environmental club
meeting to discuss the issue of soil erosion in the community.
Students, parents, teachers and the members of the community will
be invited.”

“I need you to summarize what you have learned about soil erosion
in our community and report to me next week.”

You went to the library and found three relevant sources on the
topic; a passage, a cartoon, and a pie chart. You must review these
sources before reporting to the principal.

INSTRUCTIONS TO BEGIN:

You will read the passage and the cartoon and then examine the pie
chart. You may make notes from each of the sources. You can use
your notes to answer questions in Part 1 and to help you to write the
report in Part 2.
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SOURCE 1
Erosion in Garden Tavern

The land in the community of Garden Tavern seems to be getting
smaller and smaller as water and wind continue to remove the
topsoil. Community members who are over fifty years old are
shocked to see that areas in the community where they played as
children now have deep holes.

The main economic activity in Garden Tavern is farming; over the
years the farmers have been clearing the land by weeding and
burning. The farmers who plant yams on the hillside have cut down
all the trees in order to plant their crops. The main source of water
supply is a river that runs through the community. The residents use
the water for all their domestic purposes—washing, cooking, and
bathing. Several years ago they caught fishes in the river which
formed part of their diet. However, persons have been dumping
garbage in the river and the river is now getting closer and closer to
their homes. Recently, the river has overflowed its bank and caused
damage to many houses and washed away crops.

The most recent concern to the members of the community is a new
road which passes through the community. Since the road was built
more mud and stones have washed through the community,
removing topsoil and leaving large holes all over.

Many of the people feel that Garden Tavern might soon disappear;
they want back their community the way it was ten years ago.

Passage taken from The Environment Today Magazine
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SOURCE 2

In the cartoon below, a farmer and a road construction worker
discuss the issue of soil erosion in their community.

You construction workers
have to plan better so that
the land is not washed away.

Yes, we are upset and rightly so. | | Itis sad because you farmers
Most of our banana farms which | | need good roads to transport
are beside the new road were | | your crops, but if the erosion
washed away continues soon
the rain fell. there will be no

| am so happy for the
new road, but | am so
sorry for the banana
farmers who

have lost some

Cartoon taken from Garden Tavern Newsletter:

SOURCE 3

The president of the Garden Tavern Citizens Association did a
survey among the members of the community to find out what they
think are the causes of soil erosion. The result is presented in the pie
chart.

CAUSES OF SOIL EROSION

Road
construction

Cutting down
trees for

farming
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Write the important points from the sources

These points will not be scored

Source 1

Source 2

Source 3
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Instructions for Part 1 (30 minutes)

Now that you have read the sources and examined the pie chart,
answer the questions below. Your answers will be scored. You may
refer to the important points you made on page 5, as well as the
sources. Your answers to the questions in Part 1 will help you write
your report in Part 2.

Questions

1. Look at the questions in the table. Decide if the information in
Source 1, Source 2, or Source 3 will provide answers to each
question. Put a tick (v') in the box to match the source that
provides an answer for each question. You can tick more than
one box for each question.

Question Source | Source | Source
1 2 3

Why is topsoil important?
Which human activities cause soil
erosion?

Student Responses

Student A (Level 2) rSCOFi”QZ A
Question Source | Source | Source All entries correct
1 2 3
Why is topsoil important? \/
Which human activities cause soil erosion? e /

Student B (Level 1) f . \
: Scoring:
Question Source Source Source
) " 3 At least one entry is
Why is topsoil important? Sl \ correct
Which human activities cause soil erosion? o

\. .
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Student C (Level 0)

Question Source Source Source

Vhy is topsol mpprtant? HECIAL WE D] i
gﬂ& _!!3& %&é)\%
W, |ch um&x ctwmcs cause soil erosion? C&“\‘\Q

Scoring:
1 2 3

Blank

2. Which source is the most helpful in answering the question
below?

What are the problems caused by soil erosion in Garden
Tavern?

Explain why this source is the most helpful. In your explanation
give two details from the source.

Student Responses

Student A
(Scoring: \

%ouv(&(’, Y
The, 19 Yo o \ne\r\;f\\\ \)Euﬁ\\\i}e \\ Yelle e Level 2
J Most hel i
‘& . S e e pful source is
\\\m\ O \'\ﬂt{’\\;ﬂ\\\\\(\ (A (,D( 6\9(’\ —\’Q\an S\Q\’\Qb S‘\'\F identified with

adequate evidence-

Qro\n\fn'g conel \ s e \\\ eoSi on Of'\cl (Ol”z(ﬂl .
\ based explanation of

£ aNSC \\ m\ ecadne et o o Q phlestd why the source is
most helpful. The
\\,\e\ \(\ t C_‘}\‘\ P(f\g\\ N\ CansetT 6 \XY\" Pl 0‘1'(7\&’\\’*\0 source |S Supported by

e, \no.(\\« and  caunsed Aot b \0 ~lany two details from the
selected source.

bous ey \X ;\Qo Cosed Aem \x\:}fa \('\ \\né) \ J
£~V“\\\\\\\ N S Wae \\<\\\\ \\ S&\Q
o NARN bl )
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Student B

[Scoring: \
w\\nt mr“bi \r\.C\C)SIL\\ Sﬁlur&é n\ocfuf' /ML Level 1

O :enlam KN Om\ cCe :L-n J( “ Most helpful source is

“V LN a\’\mms Aol ACC. canse. LL‘& identified with partial

or very limited
v ;
\\ eoctinQ, /,[:( e s, avlal e T evidence-based

XA\ é}\ (_\(_\('Y\(\Q [ Ny LONASO R /‘L‘Cl QY explanation of why
/\\\L ﬂc\o\gm% CONSE (\ \1\ "\(\ the source is most

. helpful. The
: 5 C r ion i
g,rOo\rﬂ \ C cacA cn /(Arwe (Y explanation is

supported by one
related detail from the
source.

Student C \ )

(

T Digk Sowree 3 ll5 48 more becanse fShows
s ﬂ}\& hie d’lOlf‘}"‘\ha'}'\g\’\ovo% dhe. ()mmn\\'@(;

drees_qe Fh W0 the, &
019»0 Shorne, s '\\'\E, hao Cortruchion -
Showring s Hhe chad helpy ue because )
‘S\lou\%\»\*—\«, O«}o\eﬂl\ ond. lQH)LlE us mhaJ [Scoringi \
Jh& -ho\)\uv: \S  othout 0)70/ hOlD b\a ’*he/ Level 0

’Pro e ls o W is Ve hele £ 4hal _
soyThene bddees, teall need do be Explantions and
/EXQCI' 75(5“\4!?0 nee ln he 3(0&))(1 hac% '
) e

S T\ /
7716(/ "Géd 'b /R(} *Hne r‘oa& Cause. "PF\Q ’%rmprQ
2] o deasport Ve Ccugs A e cend Jo e S\
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3. Which two of the three sources provide factual information, and
which one provides an opinion about soil erosion in Garden
Tavern?

Use one detail from each Source to support your choices.

Student A
gQ T TUTapPPUTT JUUT CITOTCCS,
xce & &
%3 Lasd Sowee P Reowdie (o ﬂScoring: \
SXE \gk‘(';( N‘Q\\\.\c\’\ . ] :
%o Wsee, =X \3(\-.\\\(\( & r\'p\\ ai R A N TR WU P Level 2
A Cowlear e ' Answer identified the
= three sources correctly.
S seiis — The choices are
N supported by one related
ccu\\\\\ —\\,\ s ]
% &\ < e hee oy Lot an\ detail from each source.
Co\e, nocl, }h mam\\\\\o% Sy One of the three
RSN BN s selected details is
\

loosely related.

ST
_N\_O‘:}\ o\ \\ \C \3(\ TARTRE MACY € \!\\(\S\'\QA K )

_Q\L\r\:\) \.{\(\L(\ ’\\’\( \d\v\ QL\\ -

Qﬁou&c_e. =

A\M ?’}L\ "JS( ‘\\'\L \/\r (\\C\\‘\

\ele v Wp \3\! C&Rmo N dovin (o

‘:mm\\“g C\V\d 0\\9.\- \L\ < Xt\\*\e,(\ L\p \3

\oo\\\%qc\ Conshnadd o e A ’?\:‘\ ‘
\00%'\ v AR Neherer 3

L™

\
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Student B

Te Yo Source, b troyde. Sl
J&DW’GN« \S Quyee 4 LM\\A Yourte, 2 Aﬂ.d [Scoring: \

Qe Q oan, Ohnon 1S Seurce D Level 1

U\m - &3\‘\ “03\0“4 My, N,QSD.D_S&hL\_L_ Answer identified the
ﬁ and _ Source 2 'sShows

?g \d Source . three sources correctly
\ ( .

ué:&\ox W prn hnm\ ) ELaLbe Souftes 4. with oneds?)urcel ;

@‘m\v\‘ T ol %mo\(fs oo By Sowee Z‘Qi’;ﬁrte y relate

D T Q\.\Qs% \\ S o\sm\m hmm X\(\k\\
§ - \_ Y,

Student C

"2_411&(—(& |¢4’)\

211-‘3»(/@-(1 ] ’\N‘S’M&LQ Qa3 aal

h\i%\ AB\ ou\c}\ AMU‘({O \ M\M«tk}lm @coring: \
Q /Qj"i U\} A &Ij\ Mﬂﬂ/\ 'U'\ Level 0
sarthon . Daoceen s dprers 1 1A Answer identifiad
nswer identified one
ﬁdlb”‘ -”\“} 1hoy “m’ lhe 'Ufﬁ)\” : source correctly with
-QN']N\ {ﬁ\ HN\L* & G(ﬁ‘ (WQ 1}4( no explanation and
\[QU‘H%LQ and apuaie 1) o4 10 . ) details which is
loosely related.
’\u—f/\ e L{\L Yo n J2=u J&) ,-m heral
~ya d ”UJ /ﬂﬂn/}u\JL (i aral. \ )
G '
j’n LG} 7
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Directions for Part 2 (35 minutes)

You will now review your important points and sources, then write
your report.

You may also look back at the answers you wrote in Part 1.

Read the task and the information about what to include in your
report, and then begin your work.

Task

Your principal asked you to use the important points you made and

the two factual sources to write the report about soil erosion in

Garden Tavern. Your report should answer the following questions:
e What are the problems that the Garden Tavern community

is facing because of soil erosion?

e \What human activities contribute to soil erosion in Garden
Tavern?

e What can the citizens of Garden Tavern do differently to
reduce soil erosion?

Your task is to write your report using information from the two
factual sources. Choose the most important information from the two
sources to support your answers. Your report should be three to four
paragraphs long.
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Student A

heces &XM‘: of (mu\m qum()(e GauM
deeo\\o\cgm The roadc, My domd Sores have
MB}\Q‘& ’H\m um\\ The LO(‘f\mur\\J\’\l cem ov\no\
Topcoi ) endy \QDV\J largeholes al\\ over

he Place. e —
The hum at gt ivities Yhat Contrihge Scoring:
tg gf)\ \ 1Y ((()C'-.I on ‘\t\ .\hekom“\“ [\]"Tgl—mz'ﬂ.\q (00& Level 4

All three research
questions clearly

\OV\S'\(U(\\O(\ “"\Q \Qu‘i dlb’\ﬂ] 0{‘ 'ﬂ £ rond % answered. The
nox Dpely o Vs tod ko the lond (oo Yiug relevant evidence
lYO s\rvf!\gf\()( Weoal O\Wftﬂ D wnet '\ﬂ 2 al bgq{'\h ];L(:JTczzeistvl\Jl(s)ega:g:al
‘H‘\f‘\’a (Y0 6 Y\(\\% (d\}\g(’j ‘H‘\f nve,t” Yo OW({" answering the three

research questions.

£\ow Then, 1§ Wagn awaf Yhe ¢oil, CotTing
doun Thed(e%C fox fgum wog . This prites
\otoled gefoestalinn. The rpot ofa
'\YQG Lods the toil %g(’ﬂnﬂf (,uﬂmfu down
\(QL’% NOELY Soil ¢ rpSion ’(oouu(f(gq;upnﬂv

(,\'\(mpr\t; ot Q;smé{’t\ TaWid (o 0\0‘\\‘\1.\41
\Lo D(PUQI\)V Sm\ RIQG10D ﬂ. Pro()ﬂ \\J Géwb)r
10 t\r\Q(O(\ﬂmm\ ‘D‘%ﬂm AS '3 Do not T)Ump

tbo.02 m'\he (A VEC (auSina i "0
Duortiow 3 S’VDD xhe detore ttgtion fau-
Ging The (ain Yo wosh guwa{ Yoo
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Student B

_\)mﬂ_amum_amjqu_mw - N

Scoring:
. y
Level 3
0 Y b Y . Three research
questions
- answered.
* However, one

research
question has a

A l‘w j 3 limited answer.
l’m l" 0 A 'I'r'm nnl\ r}m{-.-- . - The relevant

evidence from
-E-I.\D_Hif “H hl- L ‘“’«\rmbﬂ *)ho r

DTy ﬂ"n.\rn ‘l {\ﬁ“'f é ﬁﬁ h (03 ﬂ !-. 1.‘"5 at least one

% * factual source is
ks“ onte L u\ l(n "d‘u Piae m“ 'ﬁ'\ Lir\ ‘T used to answer
GO Lavii mk
_ two research

| questions.
(ooeiarbinn % Mieeing  oorbane o & ree. hib eralee
ARL Y \.J e \_ Yy

Liyteg -:g\ dosst 208 C\oet fo heit hiarneg. Tl Tm_hmu_ﬁ\ﬂ_

Frmmimh \S '\sﬂh AN ecofeag at\‘iw#}r i famlgnjm_. ]

What  can Me  cibipens & Taden Yawets do J[S&'ﬂmﬂ}, o
fedare o) ernsin T\‘m; a0 dad ?\an\mj a ?lnn\- eat
MQ‘; A Vbt ﬂm};‘tt ar od n;'-.nu o be Secdeld,

J
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Student C
\\‘\‘2 CommMun 9 OCOL QNS ate VIl
' o‘.l N, Doblem? N Ncld. (1IN g o
-(. Y 19 OO E g g Qo D

A6 . Ao, 1nf Ll'
NP .l h« 0D 1Nt \\ A o\ m‘—Qx&A_+ ( o \
much_m\_\;u\\_m\,& le} e have flood " ond he >eoring:
Sm&xmngx 108N auay. Level 2
0 QﬂQ“]!c éﬂ*ﬂ M\—M Limited answer to
\\L N \3 k\ . . two research

AN questions. The

fiﬂfé? a "-TO\J(’ A answer to one

\S )(\\Q\ \’\\ti

research question is
&\Q rDC\A *\\ NQ % missing. The
n - }mmsmr\‘ oic (XDbS- relevant evidence
{ R for at least one

research question is
presented from at
least one source.
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Student D

, exZwn
S Al b e Adpeal
ﬁﬂg’_%aﬂrﬁon. \n\”m\c o pﬂfﬁems dbat s (Scoring:
(oden " Toson  compunds 1o facins beayse Level 1
Ug’ soll_edtion (ﬂlé m Wi %, ﬁm“ This student provided
Mony o der? RBel Jhat JC’&rd{’fh Tawem minimal answer to one

5 \iG ! 4 bak. dieac research question. The
answers to two

research questions are
missing. The evidence

_@Y‘Nmnﬂ’(} C}%G‘ nay J+ NS " (;16(! Ucars . is presented from at
gﬁm\ Traeesion %+ homan M}w‘rh % g’m e least one source.
dﬁ) So‘i %&.Un i\ &)}d@\ Tﬂ.ll(ﬁm ﬁf{) 0/-{(( \

adiitt O ooty Final nuetion Ul agdHe
clizgs of fadsh Tovem Al Jo
Vv

reduce sol €600 berauge. Fhert A ool g

Aot dor codn dber or e afotbyr
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Student E

The land in e COyrmmnH:j OX Gouden, Tavew Seemn do ke

06%3 Synatiey eid e ciiery o tond ond Latey conbinne 1o

J
fenaove e 4nlv>-nil (nmmumf-hj membieys wilbe Ave ewer fili

39(11,-- ol ave Shecked o spe e Con‘smz}nr*}s coheve Yher as

Childyen now have dep:o holes,

E_vann. eCominmaid (\H&\u‘ld i Govders Javern 15 favnmiing over
5

He roay= —an Ihepieve Wove heen Cleaving Hae land by ( .
J W J Scoring:
. _ _ Level O
WEEAUN Ly m S On the hill-

Transcription

side have ¢t den Hos dreea M ovdey 30 plant Haoly Crops,

|
TLP mMain Souyce 0¥ undey 544{)}")?” IS A rivey Hord rons 'H-\roujh

H\e (‘o-nyrnn;i{ -nﬂé Yern e nts uze the wntey for od) Heir

0\30 thee cauotn fisher in the vivey wiick Yavmed Dart o e

l€ 18\ - 1 Q_. &9

Ly
@ Noto SPHiv:j Clicey ctnd Clovey dm e oo PN—" renHuﬁ

Hio: pibee Taae avexYlowed s bornk ~nd Conrned dnmaoe 4o

mapy houses and i asbed (‘u::lns (m}os nw Mo % yecerts

Covicay 10 et paerihegs &¥F the Comumunida i~ A M 3-ad

ﬁun uhich P(\‘b"ﬁ&) "H’\YOLLC\ | 'Hh“ C o vy '\{.U‘{.')‘Cn.
~
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Item Type:
Mathematics Sample Items and Table Grid
Solutions
DOK Level: 2
S

If the symbol 4 is an odd whole number, which of the expressions will (P . oo \
rimary Knowledge

always be odd, sometimes be odd or never be odd? Shade the letter that ; _
matches your answer. and Skills measured:
Expression Always Odd Sometimes Odd Never Odd * ;isr(rensuulgztltutlon n
a. ¢+5 @ @ algebraic
sentences and
b. #x5 @ @ inequalities in
problem solving
c. +2 @ @ e Substitute a
number for a
d &x2
¢ @ @ variable in a
mathematical
Solution: sentence with up
to two variables
Expression Always Odd Sometimes Odd Never Odd k
a #+5 ® ® |~ ~N
b x5 @ . @ Scoring:
. X
Level 2 — Three or
c. +2 . @ Four rows correct
Level 1 — One or two
d. #x2 @ . rows correct

Level 0 — None
correct or blank

. .,
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ITEM 2

In the grid shown below, there are three pathways labelled A, B and C.

For each of the following statements, indicate by shading the circle
whether the statement is true (T) or false (F).

Statement True False
Pathway A is longer than Pathway B @ @
Pathway A is longer than Pathway C @ @
Pathway B is longer than Pathway C @ @

Solution:

Statement True False
Pathway A is longer than Pathway B . @
Pathway A is longer than Pathway C . @
Pathway B is longer than Pathway C @ .

96

Item Type:
Table Grid

[ DOK Level: 1 ]

(Primary Knowledge\

and Skills measured:

e Compute the
perimeter of
regular and
irregular plane
shape using units
of measurement
for length.

\. y,
(Scoring: \

Level 3 — Three rows
correct

Level 2 — Two rows
correct

Level 1 — One row
correct

Level 0 — Blank; None

COI’I‘ECI )
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ITEM3

Classify each net as representing a rectangular prism, a triangular prism,
or a pyramid.

A B C

[

Shade the letters for each net that is in the correct column below.

Nets forming a
Rectangular Prism

Nets forming a
Triangular Prism

Nets forming a
Pyramid

ONONONONONO
ONONONONONO
ONONONONONO
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Item Type:
Table Grid

[ DOK Level: 2

\ triangular base

(Primary Knowledge\

and Skills measured:

e Recognize faces,
edges, vertices of
a slid and classify
solids according to
number and shape
of their faces

e Classify solid
shapes (prisms,
pyramids and
polyhedron)
according to their
properties.

e Draw and describe
nets of prisms:

(Scoring:

\_

Y,
\
Level 4: All six

options correctly
placed

Level 3: 4 —5 options
correctly placed

Level 2: 2 — 3 options
correctly placed

Level 1: 0 — 1 option
correctly placed

Level 0: No response

W,




E Mathematics

Solution:

Nets forming a Nets forming a Nets forming a
Rectangular Prism Triangular Prism Pyramid

ONON NON MO
_BOBONONONO
Ol BON NOMN _
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ITEM 4

In a certain herd of goats, all the goats are either black or white. How

many female goats in the herd are black?
Which three (3) of the following statements together provide additional

information that is enough to answer the question?

@ The number of goats in the herd
The number of male goats in the herd

@ The number of black male goats in the herd

@ The number of white female goats in the herd

Solution:

The number of goats in the herd

The number of male goats in the herd

The number of black male goats in the herd

~00

The number of white female goats in the herd
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Item Type:

Multiple Selected
Response

[ DOK Level: 2 ]

\_

(Primary Knowledge\

and Skills measured:

Select data
relevant to a
problem when
finding its solution

)

\_

(Scoring: \

Level 2 — All three
statements selected are
correct

Level 1 — Any two or
one correct statements
selected

Level 0 — Incorrect
statement selected

)
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Item Type:

ITEMS Table Grid

At a certain competition, each of the four members of the Jamaican track
team ran a different distance. The total distance ran by the four team [

members was 8 kilometres. If the longest distance ran by a member of the
team was 3 kilometres, what could be the shortest distance ran by a member
of the team?

DOK Level: 3 ]

(Primary Knowledge\

For each of the following, indicate true (T) or false (F) which could be or
and Skills measured:

could not be the shortest distance run.

e Make reasonable
estimate when

computing with
4 kilometres @ @ PUlNg

whole numbers
1 kilometre @ @ k J
100 metres @ @ (S coring: \

Level 2 — All three
Solution: rows are correct

Shortest distance run Could be Could not be

Level 1 — One or Two
Shortest distance run Could be Could not be rows are correct

Level 0 - N fth
4 kilometres @ . roev\\;i or corrc()er;te; %Iani
g Y,
1 kilometre . @
100 metres . @
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ITEM 6
- Item Type:

Single Selected
Response

The table below shows the relationship between the number of a term in a
pattern and the value of that term. The same rule is used to find the value
of the term in each row.

Term Number | Value of Term

1 3 [ DOK Level: 2 ]

2 5

3 7

4 9 (Primary Knowledge\

" ? and Skills measured:
Based on the pattern shown in the table, the value of the 3" term is 7. e Investigate tables
Which of the following expressions could represent the value of the n' of values to
term? develop algebraic

expressions to

o 2 @ s @ e eresent ny

numeric pattern
and use these
expressions to
make predictions.

(») 3n ne2 (©) n+s @ n+1 \. /
(Scoring: \

1 mark for the correct
answer

Solution:

. S
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ITEM 7 !
Item Type:

Single Selected
Response

Six (6) squares were shaded in a grid to make the figure shown below.

______

[ DOK Level: 2 ]

|

[pep———

====1 (Primary Knowledge\

4 and Skills measured:

w

e Compute the
perimeter of
regular and
irregular plane
shape using units

Which one square (1, 2, 3 or 4) should be shaded so that the perimeter of of measurement

the new figure is less than that of the original figure? for length.

® ® ® ® \_ ,

Solution:

(Scoring: \
@ @ @ . 1 mark for the correct

answer

. S
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E Mathematics

4 )

The graph below shows the average monthly rainfall in Rose Heights and Item Type:
Mayfield for 4 months of 2016. The amounts have been rounded to the

. . Single selected
nearest whole millimetre. Use the graph to answer questions 8 and 9. g

response
220 Multiple Selected
200 Response
180 \_ .
E 140 [ DOK Level: 1, 2 ]

Rose Heights

m Mayfield
(Primary Knowledge\

and Skills measured:

Rainfall

_ e Identify patterns
February March April May and trends in data

Month and make
inferences from
these patterns and

—

In which month, was the difference in the average rainfall between the two
cities the greatest? Shade the circle beside your choice.

@ April February @ March @ May [Scoring: \
Question 5: 1 mark for
ITEMO the correct answer

Which two (2) conclusions can be drawn from the given set of data?
Shade the circle for the ones that apply.

Question 6:
The average rainfall in Rose Heights increased significantly between Level 2 — Two correct
April and May. conclusions selected
Rose Heights experienced less rainfall than Mayfield each month. Level 1: One correct

conclusion selected

The average rainfall in Mayfield fluctuated over the four-month period.
Level 0: No response;

incorrect conclusions

The greatest total average rainfall in both cities happened in March.
selected

O O00O0

None of the two cities recorded less than 100 mm of rainfall. \ )
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Solution:

Question 8

In which month, was the difference in the average rainfall between the two
cities the greatest?

@ April February @ March ‘ May

Question 9
Which two conclusions that can be drawn from the given set of data.

The average rainfall in Rose Heights increased significantly between
April and May.

Rose Heights experienced less rainfall than Mayfield each month.
The average rainfall in Mayfield fluctuated over the four-month period.

The greatest total average rainfall in both cities happened in March.

ONOX NON

None of the two cities recorded less than 100 mm of rainfall.
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Kelly is making some cupcakes for her class party. The number of each ¢
flavour of cupcakes is given in the table below. Use this information to Item Type:
answer questions 10 and 11.

Single Selected

Flavour of Cupcake | Number Response
Chocolate 8
Vanilla 12
[ DOK Level:1, 2 ]
Strawberry 4

ITEM 10 (Primary Knowledge\

and Skills measured:
What fraction of the cupcakes are vanilla? Simplify your answer to the lowest ) o
e Write a fraction in

terms.
its simplest form
1 1 1 1 and/or as a
@ 6 n @ 3 @ 2 decimal

e Solve problems
which require the

ITEM 11 use of equivalent
ratios

Kelly plans to add some more cupcakes k )
e She will add 2 more chocolate
e She will add more vanilla so that the ratio of chocolate to vanilla is [ \
the same as before. Scoring:

What is the new total number of cupcakes? 1 mark for each

@ @ @ correct answer
29 24 15 10

\. S
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E Mathematics

Solution:

Kelly is making some cupcakes for her class party. The number of each
flavour of cupcakes is given in the table below.

Flavour of Cupcake | Number
Chocolate 8
Vanilla 12
Strawberry 4

a.  What fraction of the cupcakes are vanilla? Simplify your answer to
the lowest terms. Show or explain how you got your answer.

The fotal number of cupcakes = 8 + 12 + 4 = 24

. .. 1201,
The fraction of the cupcakes that are vanilla is o2 N

its lowest terms

b. Kelly plans to add some more cupcakes
e She will add 2 more chocolate

e She will add more vanilla and strawberry so that the ratio of
chocolate to the other flavours if the same as before.

What is the new total number of cupcakes/. Show or explain how
you got your answer.

The ratio of chocolate to vanilla is 8: 12 or 2:3

After adding 2 more chocolate, Kelly now has 10
chocolate cupcakes.

To maintain the ratio of chocolate to vanilla as 2:3, Kelly
needs x vanilla cupcakes such that 10: x can be reduced
to 2:3. If 10 is equivalent to 2 parts, then 5 is equivalent
to 1 part. Hence, 3 parts would 15. Kelly therefore needs
15 vanilla cupcakes in order to have the same ratio. So,
the new total number of cupcakes is 10 +15+4 =2
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Grade Five Mock Performance Tasks
(Mathematics)

FUNDRAISING

Your class is planning a fundraising activity to contribute to the cost
of building a computer lab. Your teacher suggested that the class
earn the money from one of two fundraising activities.

Fundraising Activity 1: selling pencils
Fundraising Activity 2: participating in a walkathon

You will need to answer the following questions to select one of the
two activities.
Part 1 - Selling pencils

For the fundraiser, your teacher asked you to sell pencils.
The cost of each pack of pencils is $100. One pack contains 10

pencils.

1. Each pencil should be sold for the same price.

Place two of the following options in the blank spaces below to
make the statement true.

Options :

$5 $10 $20 $100 One Five Ten

pencil(s) will be sold for

107

(Scoring: Part 1 \

Level 2 — Full
Understanding

A unit price of $10
(seen or implied).

Misinterpretation:
Based on students’
experience with
selling for profit,
student may select any
quantity more than
$10 but from the list
of options given.

Level 1 — Partial
Understanding

Student makes an
error in computation
(e.g. Ten for $10)

Misinterpretation:
Student selects a unit
price (seen or implied)
that is greater than
$10 but not in the list.

Level 0 — Little/no
understanding

All other
combinations; blank;
off topic

\_ )




f Scoring: Part 2 ‘

Level 3 - Full
Part 2 - Participating in a walkathon Understanding

E Mathematics

.. s Correctly calculates
The second fundraising activity is a walkathon. $200 with correct
explanation AND
correctly determines
the minimum number
of students needed
with correct
explanation

The teacher told you that each student will collect $50 for each 0.5
of a kilometre that the student walks. Sam walks 2 kilometres. What
is the amount of money Sam will collect? Show how you found your
answer.

Level 2 — Partial
Understanding

Correctly calculates
$200 with correct
explanation but makes
errors in determining
the minimum number
of students needed.

Answer the following question using information from the question OR

above.
Incorrectly calculates

the amount collected
for 2 km but correctly
uses this amount to
determine the
minimum number of
students required.

If each student walks exactly 2 kilometres, what is the least number
of students that will be needed to collect $8,000? Show how you
arrived at your answer.

Level 1 — Limited
understanding

Both answers are
incorrect OR only one
part of the item is
answered. It may
contain minor errors.

Level 0 — No
understanding

Incorrect answers with
no explanation; blank;
off-topic;
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E Mathematics

(Scoring: Part 3 \

Level 3 —Full
Your school has three grade 4 classes: 4A, 4B and 4C. The table Understanding
shows the total number of students in each class and the fraction of
the class that is expected to participate in the fundraiser by either

Part 3 — Participation in the Fundraiser

Correctly calculates

selling pencils or walking in the walkathon. ior its equivalent
i with correct and
Total number | Faction of the complete explanation.
. class that will
Class of students in . .
he class participate in _
t the fundraiser Level 2 — Partial

Understanding
Grade 4A 50 0.4

Fraction may/may not
Grade 4B 40 be stated. The

explanation is

1
Grade 4C 40 2 incomplete or contains
minor errors.
) .. . . OR

A total of 50 Grade 4 students will participate in the fundraiser.

What fraction of Grade 4B students will participate? Incorrectly states the
fraction; the

Show how you arrived at your answer. explanation contains

minor errors

Level 1 — Limited
understanding

Correct fraction stated
with missing or
incorrect explanation
OR

fraction incorrectly
stated.

Level 0 — No
understanding

Explanation is loosely
related; blank; off-
topic; uninterpretable

\_ )
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E Mathematics
Part 4 - Choosing the fundraising activity.

Use information from questions in Parts 1, 2 and 3 to
answer the following question.

e |If selling pencils is chosen as the fundraising activity, each
participating
Grade 4B student should sell 20 pencils.

e |f the walkathon is chosen as the fundraising activity, each
participating
Grade 4B student should walk 4 kilometres.

The participating grade 4B students need to collect $4,000 or more.
Explain to your teacher which fundraising activity you would
recommend. In your explanation, give details on both activities and
use mathematics to explain how you arrived at your
recommendation.

110

ﬂScoring: Part 4 \

Level 4

Based on student’s
response to parts 1 —
3, student selects the
correct activity (seen
or implied). Full
details of both
activities are given.

Level 3

Activity chosen may
or may not be named.
Full details and
correct explanation are
given for only one of
the activities.
Explanation for the
other activity is
present but contains
major errors.

Level 2

An activity is chosen
(correct or incorrect).
Details and
explanation based on
only one activity. The
explanation of the
other activity is
missing. The
explanation may have
errors.

Level 1

Chosen activity
named but explanation
is incorrect or
missing.

Level 0

Explanation is loosely
related; blank; off-
topic; uninterpretable
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E Mathematics

Student Responses

Student A

b

Level 2
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A unit price of $10 is

\

S

/Part 2

Level 3

Correctly calculates
$200 with correct
explanation AND
correctly determines
the minimum
number of students
needed with correct
explanation

o
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E Mathematics
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/Part 3 \

Level 3

Correctly calculates
. .

2 or its equivalent

with correct and
complete
explanation.

j

/Part 4 \

Level 3

Activity chosen is
named. Full details and
correct explanation are
given for only one of
the activities.
Explanation for the
other activity is
present but contains
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E Mathematics

Student B

1«} i pencil(s) will be sold for 5 \ DA.D)

SNow how you tound yourbanswer.

/Part 1 \
Level 2
A unit price of $10 is
implied.

- j

/Part 2 \

Level 2

Correctly calculates
$200 with correct
explanation but
makes errors in
determining the
minimum number of
students needed.
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E Mathematics
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\% Correct fraction
stated with missing
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E Mathematics

Student C

/

Part 1
Level 2

\
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/Part 2 \

Level 1

i : : Both answers are
o0 000 incorrect
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E Mathematics
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L,(,D
B e
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Level 1

Correct fraction
stated with incorrect
explanation
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E Mathematics

Student D
[Part 1 \
4720 pencil(s) will be sold for 25 : Level 0
Any other
combination
\_ ,
L: <
/Part 2 \
Level O
Incorrect answers/
off topic
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E Mathematics
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Level 1
\4 C= Y o —_/ Correct fraction
L stated with no
explanation
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/Part4 \
Level O

Explanation is loosely
related

- A
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Conclusion

For our students to become successful in their endeavours, it is
Important that we equip them with the skills that position them
to have access to the many opportunities that technology and
other affords us in this 21% century and beyond. To achieve this,
the full implementation of the National Standards Curriculum is
of utmost importance.

We encourage teachers to pay careful attention to the
knowledge and skills that students are to acquire as outlined in
the preamble, objectives and suggested activities in the
curriculum documents. The utilization of student-centred
methodologies that engage students as they explore content,
construct their own knowledge and extend their thinking (as
outlined in the curriculum guides) will ensure students are
adequately prepared to apply what they have learnt in the real
world.

The Primary Exit Profile seeks to give students more
opportunities to demonstrate mastery of these knowledge and
skills. It is the hope of the Student Assessment Unit that
teachers and all other stakeholders will find this document
useful as we partner to secure the futures of our children.

119



